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1- Which of the following strings in the options cannot be
transformed to this string without cutting?
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2- A shape is made of equal-sized pentagonal tiles. Which of
the following tiles can be placed in the space in the shape
to produce two closed curves?
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3- The left diagram shows a rhombus. The area of the left
diagram is increased by adding two right-angled triangles,
as shown. By what percentage has the area increased?
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4- What is the value of X034
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5- khalid cuts off the four corners of a regular tetrahedron,
as shown. How many corners does the new shape have?
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6- Reem has three cards marked 1, 5 and 11, as shown. She
wants to place them side by side to make a four-digit
number. How many different four-digit numbers can she
make?
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7- A fruit bowl contains five types of fruit:é, 3’, %, 6 and )
Mohammed likes 6 Tareq Iikesé, 3, 6 and ) Saeid likes

® & % ana) sultanlikes ¥ @ and . Hadi likes @ and

& .The fruit is shared so that everyone gets exactly one
different type of fruit and everyone gets a type of fruit that

they like. Who gets o7
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8- The weight restriction notice for an elevator says it can
carry either 12 adults or 20 children. According to the
weight restrictions, what is the largest number of children
that can ride in the elevator with nine adults?
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9- Four different positive integers are placed on a grid and
then covered up. The products of the integers in each row
and in each column are shown in the diagram. What is the
possible sum of the four integers?
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10- The length of a set of four well-parked and fitted supermarket
trolleys is 108 cm. The length of a set of ten well-parked and
fitted supermarket trolleys is 168 cm. What is the length of a
single supermarket trolley in centimeters?
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11- Noura baked a cake and cut it into ten equal pieces. She
ate one piece and then arranged the remaining pieces

evenly, as shown. What is the size of the angle between
any two pieces?
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12- Mohanad can make a 4x4 square, where the sum of the
numbers in all four rows and all four columns is the same,

. 2[2] _
from the three pieces shown [1I" 2[5 512 and one

further piece. Which of the foIIovﬁng piec_es is needed to

complete his square?
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13- A square has side-length 10m. It is divided into parts by
three straight line segments, as shown. The areas of the

two shaded triangles are A and B. What is the value of
A-B?
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14- Paula the penguin goes fishing every day and always
brings back twelve fish for her two chicks. Each day, she
gives the first chick she sees seven fish and gives the
second chick five fish, which they eat. In the last few
days one chick has eaten 44 fish. How many has the

other chick eaten?
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15- Hamza had a large number of identical cubes. He made
the structure on the right by taking a single cube and then
sticking another cube to each face. He wants to make an
extended structure in the same way so that each face
of his original structure will have a cube stuck to it. How
many extra cubes will he need to complete his extended
structure?
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16- Akangaroo jumps up a mountain and then jumps back down
along the same route. It covers three times the distance
with each downhill jump as it does with each uphill jump.
Going uphill, it covers 1 meter per jump. In total, the kangaroo
makes 2024 jumps. What is the total distance (uphill and
downhill), in meters, that the kangaroo jumps?
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17- Hamad cuts a large rectangle into four smaller rectangles.
The perimeters of three of these smaller rectangles are
16,18 and 24, as showninthe diagram. Whatis the perimeter
of the fourth small rectangle?
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18- Water makes up 80 percent of the mass of fresh mushrooms.
However, water makes up only 20 percent of the mass of
dried mushrooms. By what percentage does the mass of the
mushroom decrease during drying?
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19- Salem the tiler is planning to make a large, square mosaic
floor with arepeating pattern, using hexagonal and triangular
tiles, arranged as shownin the diagram. He thinks he willuse
3000 hexagonaltiles to make the whole floor. Approximately,
how many triangular tiles will he need?
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20- Nine cards numbered from 1 to 9 were placed facedown
on the table. Marwan, Faris, Kawthar and Mariam each
picked up two of the cards. Marwan said ” My numbers
add up to 6 ". Faris said” The difference between my
numbersis 5”. Kawthar said” The product of my numbers
is 18 ”. Mariam said” One of my numbers is twice the other
one”. All four made a true statement. Which number was
left on the table?

RN RN




&

Competition y @g doluio
o 7 -
Kangaroo m gjLailall

in Mathematics 2024 2024 sl 6

iy mgog)lails

5 point problems Kaugtff:‘;:xfit‘gﬂiba ) Jlaw J4l blai 5

2590 9D las .Auwijg dudsi dausiuie gbsd dbuwlgr 9 yU] 0 Jo Bl ) Jbas-21
&uboi ghd 5 nle aold)i (ngisd «Jaxall (no .aaliso pld)i & pjallauc jUsy
Saya) il eBjUI ggaxo g bo .duwi) b5 10 g

- a @ e o o

0 0 0 000 00 00

0 0 0 000 100 )
21- The digits 0-9 can be drawn with horizontal and vertical
segments, as shown. Abdulaziz chooses three different

digits. In total, his digits have 5 horizontal segments and
10 vertical segments. What is the sum of his three digits?
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22- Tarek wants to shade two further squares on the diagram
shown so that the resulting pattern has a single axis of
symmetry. In how many different ways can he completes

his pattern?
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36 cm

23- The diagram shows three semi-circles inside a rectangle
with length is 36 cm. The middle semi-circle touches
the other two semi-circles which, in turn, each touch a
shorter side of the rectangle. The largest semi-circle also
touches one of the longer sides of the rectangle. The
shortest distances from that side of the rectangle to the
other two semi-circles are 5 cm and 7 cm respectively,
as shown. What is the perimeter, in cm, of the rectangle?
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24- A group of 50 students sit in a circle. They throw a ball
around the circle. Each student who gets the ball throws
it to the 6th student sitting anti-clockwise from where
they are sitting, who catches it. Freda catches the ball
100 times. In that time, how many students never get to
catch the ball?
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25- Fawzy wants to complete the diagram so that each box
in the middle and top rows will contain the product of the
values in the two boxes below it, and each box contains
a positive integer. He wants the value in the top box to be
720. How many different values can the integer n take?

ERENENEN




Competition ’ @ aoluio
WS d =
Kangaroo m gjLailall

in Mathematics 2024 2024 bbbl 6

iy mg-og)lails

5 point problems A Kaugtff:ggxgt‘gﬂiba ) Jlaw J4l blai 5

4,6,12,13,22,29 (e (pgisd il Lgua) bouylg 2laall oy g dujod dcyljall -26
B 23c Yi djgd Boali 62519 dluw (1o ol gue> iy Jol Jaeell .dby
Sdsasll ol gl (n3J1 ol 2ac @5 . bl gay 3¢ o gD (ndiall gloall

26- Farmer Fawzia is selling chicken and duck eggs. She has
baskets holding 4,6,12,13,22 and 29 eggs. Her first customer
buys all the eggs in one basket. After that, Fawzia notice that
the remaining number of chicken eggs is twice the number
of duck eggs. How many eggs did the customer buy?
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27- Three angles «, # and 7 are marked on squared paper, as
shown. What is the value of o + 5 + »?
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28- Captain Flint asked four of his pirates to write on a piece of
paper how many gold, silver and bronze coins were in the
treasure chest. Their responses are shown in the diagram but
unfortunately part of the paper was damaged. Only one of
the four pirates told the truth. The other three lied in all their
answers. The total number of coins is 30 . Who told the truth?

1

5

4

=

97 Ji <y Q> i liday Y
Tom Al Pit Jim NYECTIERCY)
we cannot

be sure




Competition .—\ p @/ i : asjluio
Kangaroo m gjLailall

in Mathematics 2024 2024 sl 6

iy mgog)lails

5 point problems Kaugtff:‘;:xfit‘gﬂiba ) Jlaw J4l blai 5

5Uj 2gég A gl g5 395 @ B dbaul ] A &bl o disSyo @Byl 3g.8) -29

15 3Ljg 101 p] Gl B U] ljg.d 292 @i A il ] B &bl (o disbyo

depuw AU dcjuy oy Logio J59 duudi Gupbll (ile Ylpug duudi Gbgll

Jo b2 15 2y 630 JoUl gablasy Lagil ciale 13] .oUj dejuw JUol 851U @Dl
SauWi 60l YAk dlaudl go Gdgll g0 @5 a9y Lagsilhil dly

29- Ibrahim drives from point A to point B, then immediately
returns to A. Ziad drives from point B to point A, then
immediately returns to B. They travel on the same road,
start at the same time and each travels at a constant
speed. Ibrahim’s speed is three times Ziad's speed. They
pass each other for the first time 15 minutes after the
start. How long after the start will they pass each other
for the second time?
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30- In the pentagon ABCDE, /4=/B=90,ED =DC, AE =BC.Four
points are marked on 4B dividing it into five equal parts.
Then perpendiculars are drawn through these points, as
shown in the diagram. The dark shaded region has an area
of 13 em? and the light shaded region has an area of 10 cm *.
What is the area, in cm?, of the entire pentagon?
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